60 ﬁac,e-) \fe/lwm&mis @

"?igyw:é . \J\N\ cs?qqo W\’W& <'\f1 ¥, '>
< UWL G es)hw (VAT dlt:?tv\;&"\ “m AVAV, Vo
(M\Auw\9 \/ # ¢ 2 Mmoo Ov&acr@’—"-o

+ \IxV —V -2 RxV— |/

(1) 1+) —> v (o)1) — x .
o Sa&\'}%'@m - /\-(wa}\es propicdod:
DN wr,weV = (mv)tw= ur (vsw)
) ’(/'u,ve\// U+ = B N
Gi) Kaste 0eV B g mr0 =10
(V) Dedo eV, eash -1 -\,&% O (V)=
) ¥ upre Ve oéeﬁ, (U p)= AU+ AV
i) ¥ «pel o wel , (+ pr= <o+pv
Vi) apeRer el (xp) o= L (pv)

Vi) 4w = m

EXQW\&: <R$’+,0> J{ VAN esq,»oqro %{}WAP
Exemypi) 3 <1R“, t, v> a( Uws - Zzpago wfémmg



Fxc v ) {M@un), +, 0> ¢ v espage

U Tan

E"ﬂ\’%r@{){ <f“?2_"\'7"> L/ VALA esraqo %}MQ
EXGW]P[O‘, <C/E’&\\p]}+/'> 4/\/W1 f‘SJDQ(‘,o w,']'tm4)

2@’%4:&&% A VW ES)D%O \/‘Q.%QM‘O‘Q

PropueQadt A1 Sa Wi = Wi s 3o w=",

?ﬁ:mm,c Uo%ﬂ S
mu—- O 4\ = (—LO‘H»O)'\'M

:__Ld+Lw+M)
= —wW 4 (wirv)
= W rW) +Us
= 0 +v = V.

QWPM&&O\,OQ( 21 ?cw\cs. %9&0 19-@.-\/ ’\‘cw\'-n-g

("’5.)' > = - V.

(e
V4 (A) VU= AU+ (~8) U



= (A +L—x\) -

=0, 7V =0,
Obs,  w-v q:&\:?«‘ca U+ ()
%quwum\»z}

W-1-=w) & =13+,



